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Chapter 8

Topic - Functions

Answer Key

1) Solution

1(a) The function is h(x) = 2 — 4 so
h(l) = (1) -4
= 1-4
_ _3

1(b) The function is h(x) = x* — 4 so
h(=2) = (=2)2-4
= 4-1
= 0

1(c) The function is h(r) = 22 — 4 so
h(0) (0)2 — 4
= 0-4




1(d) The function is g(x) = 10z + 5 so
g(3) = 10x(3)+5
= 3045
= 35

1(e) The function is g(x) = 10z + 5 so
g(—1) = 10x(-1)+5
= —10+5

= _5

1(f) If h(x) = 12 then since h(z) = 22 — 4,

2 -4 = 12
2 = 4412
= 16
z = 44
2) Solution
(a) f(2)=2x243=7
(b) f(-3)=2x(-3)+3=-6+3=-3
(c) g(0)=3-(02=3
(d) g(4)=3-(4)*=3-16=-13




3)

Solution The function can also be written as h(x) = 2% — 9 and if
x maps to zero then h(x) =0, ie.

2 -9

@ =9

I
o

since squaring both 3 and —3 gives the value 9.

4) Solution

: 3 — 3z—2)*
(a)  — |multiply by 3 | = | subtract 2 i square (8z-3)

b

lﬂ

(b) =, multiply by 4| 2% [subtract 2| =% [ divide by 3 E3

5a) Solution

For h : x — 6z + 1 the flow diagram is

., [ multiply by 6] 2% [add 1] %%




5b) Solution

For h:zw— -1{3 — 2x) the flow diagram is

5c) Solution

5d) Solution

— | multiply by —2 2% [add 3|32 multiply by 4 43~3s)
For h : x — (22 — 5)2 the flow diagram is
. 2z r—5 2x—5)2
— | multiply by 2 2%, [subtract 5 | Z=P square i
For g : x + 322 — 4 the flow diagram is
3 a2 2,
= [square | — | multiply by 3 37, [subtract 4 |*25"




5e) Solution

22

Forg:ox+— —

3

— | sQUAare | —

+ 5 the flow diagram is

5f) Solution

For g : z — V72 + 3 the flow diagram is

— | square

=]
H
b
=]
H
b2

2 2x° ; =
multiply by 2| 2% [divide by 3| == [add 5] 2=
Vvzii2

= [add 2| 522

take square root




